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TAPE NO. 42, SIDE 1
VOICE:
VOICE:

VOICE:

“#-/1 70 1

This?
Uh~huh.
Off the chart, is that the (inaudible)

reductions in a depressorization (phonetic) from what to

what?

VOICE:

It didn’t change much over a (inaudzglc).

It’s from 200 to 80. pfJ5¢

VOICE:

VOICE:

€0  vorce:
A voren:
VOICE:

VOICE:

(ﬂ‘? VOICE:

Uh~huh.

Or from 100 to 90. P

Yeah, 200 to 80 is the one I looked at.
Okay.

Okay.

Un~huh.

But if you looked at it for 120 degree

drop, it was almost 30 degrees for a look (inaudible) -~

VCICE:

VOICE:

Am, VOICE:

Okay.
(Inaudible) pressure.

Yeah, the same PSI pressure drop would

yield about the same -~

VOICE:
VOICE:
VOICE:

VOICE:

/* ) VOICE:

The one I looked at was --
(Continuing) -~ depression.
(Continuing) == 200.

Okay.

I don’t know. I think -- my gut feeling
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VOICE: (Inaudible).

VOICE: We’ll see how they mean that.
VOICE: See you later.

VOICE: Bye Ken.

VOICE: Bye.

(Pause.) ([REAK /N 7afING)

M WSIER There was anot“er item in that letteyr
FIAIRS TN

that AW sent to NRC that I was wondering
about.

They sent that thing up, and I don’t weaiiy think
anybody down here got to look at it until yesterday.

Sehes
(Inaudible) -~ the letter that Jﬁ&‘t, "Please

F on coibicells¥ y
li{t the hold you bave , on-us . "

Veierr That's for the caleftter.
LEE 410Gy By

A : I looked at one item on it, relative to a

statenment made by the instrument air and the diesel, one of

then.
THERE 7HAT
AnD "l’horo wvas another item on ‘\m said, "Since

the event on the 20th, we have started the A machine 19
times, and we have started the Ds'uchim 18 times, all
successfully.” 3

ALM: Now, do you remember enocugh about the start®

eFr THOSE

A'w -+ I don’t believe that allA-hh starts vere

successful .



10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

19
” T HEM HAD PAREBLEM,
Some of
A > oA
A u 1!
M'J" VeieR: I don’t either, but 1:%,@«

they worded it.
Now, we may well have had 19 successful starts.
é“‘y VHECE Well, that’s my question.
Moslid vozer: v may have had 22 attempts.

¥0ICETY But we may -~ yeah. There vere ~-

(phomet4c) would know.

BecAvse B
4 zho failed starts, that I remember, were on/

kﬂ,‘v»

train only.
A train never failed to sturt, but B train did --
VOICE: B train «-
LM
7(at,\!a!=:: (Continuing) -~ failed to start is the

ED ANP
wrong term. In each cas:, it was NS ntart,‘cl-c,\trippzp.

ANE PED
ALM: It -tartchh ':.1.’11'.»A and then so we had some cases
where it started and wouldn’t trip, so that’s another kind
of problem here.
ﬂw‘; Y VOReE : It started and wouldn’t tripA I don’t
know about that.
VOICE: There was == [ /WA #dLE]
M,F WOICE:  But on the B machine, I think it tripped
twice when we were trying to get B back up; remember?
ALM 4ases: Yop.
P‘")- wIee: We were concentrating on B. Paul would

know,
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That would be in that log that came through.

ALM =orce: Let me ask him.
LM =exem: You know, he should be able to count up

the numbergly or s74475.

A’ "l #¥o¥c®: You know, the problem is that when

A LEBTTEXL UNLESS 7HEY RE W/ILLIN G
corporate '.MCAM like that out,,\

ENTIRE
Fomg to take the Athtnt responsibility for the history and

the contentsy 7 4AT AKX Fﬁ
f{ovn here, they’re sticking their necks out.

I""‘}" ¥OICE: Well, what‘s going to happen is that
they’re going to come to us, somebody is 101 to come to us
/1 S
and ask us to show them about the (-iuodm.n), and wve’re

going to 9°/W’ .

Wvo may have had 19. I don’t know.

VOICE: Yeah.

VOICE: Heold on. (Inaudible) see about this.

PAVL AND THEM ARe SITTING UP
VOICE: A

(inaudible).

ALM %oIcE:  (Inaudible) down there. I‘11 get it.

(WALKING S6uNDs)
A } woreg: I don’t know if you had a chance to see
PAUL,

the letter that mtcnt out. BARSTON

PAUL Kz(ff}%";mu: Uh (inaudible).

ALM: De You HAVE A copfy oOF THAT ?

PK: YEAM KIiGuT HERE, f4iqxS  om ¥4¢f
~A*7 wores: I was ‘ookinq aT&M

&
and I think that’s part of the (INAUPIBLE) AND
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NOTTE [hlt'l wvhat I meant this morning on the
air.

0 But the other item, I -~ You didn’t see

that lettery 4r ryﬁ SITE HERE .P

SAW (77 THIS MERMNINE,
F K SOICe: I just

AL M B02CE:  Yeah, I know.

o hi%' oohrlo’L yev

PK -woTcE: I didn’t sew—- 14/3 e 4

WELL THAT 'S CHAr [~ —
AL M ¥OICE: , Well, okay. 4

CHRTREL G you’‘ve got anything else in it that
you don’t think is correct, please let me know.
PK voICE:  oOkay.
Aw] POICK: I was looking at two things. I was
looking at number four.
K woree: f‘A’AY-

/("1 “YOree: And we had our meeting on that this

“WOICE: Right.

A«' WOTTE: I was also looking though at number G,
okay? AAD,
q—ﬁntod to talk to you, as to whether you thought

that was correct.

. A
FADING): S Mlare
ALH (READIL

) et the 20th.
RoA %Y posep:  un-hun.

/4“‘7(}?“0 N§)

: "The one A diesel has been started 18
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times, and the one P diesel has been started 19 times. No
failures or problems have occurred during any of these

starts."

Now, if that’s -~ if those 18 and 19 starts
include all of the starts since the 20th, I know we had
problems and failures.

Now, if those 19 -~ if we started the machines a
total of 25 times, and those 18 and 19 are the last 18 and
19, and the failures, as I recall, may be one of the first

set, you know, maybe this is still a true statement.

But do you have a data log or something that would

5
-how,\ all these starts?

Efgﬁ:sa‘l'nid we could have another problem with this
statement here.
Do you ever -- what do you have that would show
all the starts?
Does Kenny ~-- Kenny’s log?
hovke=Y ¥03€L:  No.

ALM worce: Does it cover all of that?

PK 0%c8: 19 -- you didn’t have a ( ,‘.[/ududzduj

ALM ®OICX: Well, we certainly had problems, ckay?
I mean, if I recall, we had the machine tripped,

the B machine tripped.
NeT oN (M/Auo/&ej THe [B reihrine 4~.‘,-’f~p

k oYY womee ) WoC oniyms’ (IMEUAIDTe) took—thes before
that.
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1 AL M woree: But this says since the 20th.
2 F K “oIcs: Un.
3 ML M woICE: See in that first week --
T/f[/f*‘
4 F K +wozce: A ZOAA*, yes.
5 AL M %oFeB: The B machine has -~
6 F K 20ICE: (Inaudible).
7 ALM %03CE: And then there was another event, where -
8 -
G FK woIce: (Inaudible) -- temperature, we have a 74/°
10 (inaudible).
11 ALM =we3e®: Then there’s also the occasion where ==
12 FK TO0ICE: Two times -~
13 ALM +woICE: (Continuing) == they made the trip,
14 right?
oR
15 FK -woIsE: No, that’s on the -- just on the IOM{“’
WE WERE NoT THE 7%___#’7%
16 Amnninq »¢ machine. i &
17 ALM %OICE: Okay, but there was some kind of problem
18 like that. I remember.
17- WAS
19 FK =wozecg: Yeah, but it’‘s not any running time, :uh.
}‘J"" foy¥
20 the ftimandibis), you know.
21 That’s the ~- the only time when the trip is a
feu U
22 part of the, you know, the functional :.q:..)\it tripped o P
vhe ol
23 ‘_Jﬂqh temperaturey {ineudibiey.
24 ALM woITR:  Ckay.
G #raiv Foowel
25 P K ®eXcR: And we (inaudible) 4¢, and I think

A
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there’s one more time it tripped.
ALM wozcg: Uh-huh.
le‘t")" vores: (Inaudible). B train tripped.

MM VOICTER Well, do you q?t the log, you know, I

need --
I TS
Fr 403Icg: The B trip. This—is= part of the
werk ads i A

M}\, to run the functional test of the diesel, but
for --
AMm-: Yeah, but I mean, does somebody have all
the starts since the 20th, summarized someplace, so that I
can compare them against what we’ve said in this letter, to
make sure we haven’t said something t.hat:uué:é:ruc.
FK %03ICE: That is not -~ I do not =-- Nobody asked
usy L /NVAVE/BLE].
/’“7 HOICE: Hey, nobody asked us ~- anybody down here
at the site.
FK -worce: Well, I --
14 " ¥oICcE: You know, to look at what got sent in.
FK eotce: I didn‘t --
/ wy YOICE: You know, there was an initial draft that
showed up, I think, on Friday of last week; J<7
At’s different than this draft. It doesn’t have

items one through five.

FK OICE: (Inaudible).

AL M WOICE: (Inaudible) -~ starting all over. One
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FK =ozecg: Okay, this is one beew:. From starting,

this is (inaudible).
PiesEL
This is prior to the outage of th',\w. okay?

AL M NOTCR: Yeah.
B D/FsEL.
FK wozc®:  (Inaudible) one, beepez .

ALM WOICE: Well, we gotta start -- okay, on the o«
20TH THE

21st, correct?
FK wezce: VYes.
AL M BO2eR: Okay, one, two, three, what stopped?
PK %03€2: You know, manually stopped.
AHLM W0TCE: Oh, is each one of these tius:eh-r

start?
k"“" y YOICce: Okay, this is the failed to start.

h VOTCR: That’s an attempt and a failure?
PN %0ICE®: That’s right.
AL M wozce: Another attempt and a failure.
FK %oIc®: That's right.
ALM w03CR: Okay, that’s a start?
PK %o3¢2: And go another.
A LM Vores: And what'’s this?
P K%0s€R®: That’s a stop.
ALM=03CR: Stop from the third start?
FK 203ee: Yes, that’s correct.

A L. M BOTER: So that’s three starts there.

T AL
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PK m:
ALM wozes:

26

That’‘s right.

Three start attempts.

(Telephone ringing.)
IDI( .'-’;h I'( i/ N L’ A/' F!ﬁ( A!;
i A a&a: Hello.

AOLCR:—— {Inmndibiwy.
#K =01cE:  Uh-huh.
’(vtﬂ ¥oice: Four, five, six.
.[H‘W){aou Yes, uh-huh.
F/{ ¥OXEB: You can do it either way.
FK %0rc®: That's right.
ALM woze®: Seven.
FK %83€8: Uh-huh.
AL/ wozeR:  Eight.
FK woree: Up to the 3rd there from January 1st.
WOICE: No, that’s correct.
¥OICE> That is including the insurance benefits

WELL
u-on:nq okay?

P K worces
yorees

Uh~huh.

Okay.

That’s correct.
Okay.

That’s correct.
Which one?
Yeah.

You can do either way.
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ﬁl,r“ :&oea: You can put a, you know, separator or ~-
1’11 talk te you later.
(End of telephone conversation.)
VOICE: (Inaudible).
CLACGH A G) CeAGHN &)
,(“l VoIcE: It was -~ I've got --,oh great -- I've
confused apples and oranges here.
I went from the one B to the one A, and now 1I’m
lost, okay.
;K 4oze®: This is a --
ALM %¥0ZeB: Do you have anything -- you don’t have
any data then, past tho,\gg?
FAK ¥eIee: No.
ALM:Well, we did a lot more past the 23rd.
I‘Udaﬂfm: No, I don’t have anything past the 23rd
on that.
ALM wozce: Oh, okay.
koch ey pozen. Thoao:&:::;:nton failed here, the one
B.
They should be right here.

L SPorrep
,4“(« VOICE: There’s a bunch of them. There were

A
several problems in the course of that. It‘s on the next
page, I think.

FK =orcs: Yeah.
ALM xozee: It should have (inaudible).

ka/m)/ ACICE: That'’s right.
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KPS [ew
Ao M NOICE: |, Etis On (inaudible) jacket and water

pressure.

F K YOICE: And before that --

VOICHv~—Bo—you -—slso rezember—{inaudibiey?

VOICE: (Inaudible) .
VOICE: (Inaudible) .
A”’ VOICE: Did the A machine ever have a problem?
VOICRr——Not—evaEn a—littie,
A”““"‘}’ VOICE: No, A machine never had a problem, no.
VOICE: (Inaudible).
FK 40IC€B: That’s right.

VOIEP: B’s the one.
ON THA?” DA
1% pach /

~¥OICET. Okay, the B machine tripped A

Ltheres
M‘wh H
5 These are the two trips on a B machine. Other

than that, we didn’t have any trips.

WOICET  Okay. . p
pug v g Diel = e ol
oIceET 'rria\m M,\high

-2 B
temperature on a 43.23

ANDL T
Okay, then, we were doing fine again 4n-the

':"bi - /7
#M Ariqht at tne time. [ 5

Oon a low ’ackct water pressure (inaudibrer-mMave s

ow
low boil pressure, ne

[}
24 "-“"' /% WOICE: All right, that‘s the two trips we had?

25

VOICE+——Yeah—
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k"‘h';yal%t: So this (inaudible) is not correct.
/( M wozep: I‘m going to have to look for that more.
Let me get 2 copy of these two things. I going to
have to find out the rest of the story.
;X VOICE: And I’l]l take some ccpies.
A-M wOICE:  Okay.

/4“1-‘ What I really need is the starts since, you know, -4~
v beyord
euty‘ti-bcschyour list there.

FK ROTeR: What I need, basically, is =~ oh, I know.

STARTS
ALM 2OTCR: Maybe if we had notc,\(imudiblo) -- you

know, maybe this -~ I’m not sure if this is a problem or

not.

AM ‘ Well, okay, you had an item on here that you said

wag ==«
ﬂow ’ TEMPERAT VR E STAY THERF
. Im In the lottor,/\toa-mm didn't/\

(inaudible).

/4'\1 VOICE: Okay, that "a test of the jacket watery
system temperature transient during engine starts was
conducted. The purpose of this test was to determine the
actual jacket water temperature at the switch locations with
the engines in a2 normal stand out line up."

}£~2€ £
"And then followed by series of storage-without

-, 4 7o THE
#a¥ rolling engines mﬁ_roplicato%stanl of March 20th."

THE TESrs
'm,\lhovod that the jacket water temperature

at the switch location decreased from a standby temperature
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d ad oF
of 163 degrees a#t to approximately 156 degrees aff and
remained steady.*

What’s your comment on that?

A""”‘y yoree: It wasn’t steady, you know. It went up
some more and then became steady. You see, it was -~

A‘ﬂ NOICE: Oh, you got the chart here?

FK * o5€B: Ohvy.

LAPBUBET. (FAPER SHUFFLING S o UNS)
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ALM nozep:

AL M NOICR: Okay, let me look at it.
F K %oree: Okay, right here.
VOICE: (Inaudible).
ALM 903€R: Okay, I’l]l read it fo—youxr later.
FK NOEER:  Okay.
P /\wzf'a’/;” SAYING /r’;.'fu_
FK ¥O3CR:  Okay.
ALNM wozee:  Where's the fall; which direction is this
chart going?
FK N02C®: This is a -~
ALM %0ze®: Where's time going?
FK %0%€8: This is 163. That's us.
ALM wozc®: Time’s going this way?
FK 3ozee: That‘s correct.
ALM woscE:  Okay.
P K mezes:  Okay.

S0 right to left.
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F K oo

ALM YOICE:
F K VOICR:
A M BOCE:
FK wozes:
HeM wozep:

163.

163, okay.

Then ==

And it goes down here.
That’s right.

And then --
FAIRLY - = WHAT

“POICET And then it'sAuttiq stoady/\ﬁ&:ﬂh time

FARME Ar T

looking at.
F K %ozce:  Okay.
EE
A LM wozce: I,i.ut a little wobble here.
FK ¥OIC®: Yeah.
WHAT KiAD er
AL M e0ICR:  Okay, how-much time is that; what kind of

time scale?
FK WOICE:
A M swozes:
FK WOTCE:

AL M wozee:

Uh, 60 centimeters per Ilh\lt"( .

60, 70, oh, so I was looking -~
FAST™ SPEED

This is a MAriqht now.

Yeah, okay, so I was locking at about,

what four or five feet there, so that’s a minute or soc.

P woree:
ALM -wores:
FK YoTCE:
AL M vOTCE:
PK #o3cE:
A LM wozcE:

That’s right.
Yeah, okay.
THEAE'S
You see, this—was a jolt.
Yeah, so there’s a little wobble there.
Yeah, it’s a (inaudible).

Yeah, I see a little wobble up, and then

it peaks, and then here’s another.
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Is this the end of your run? This is another up.
;K Wozce: That's right. That’s a -- you can see
that (inaudible) was started the time.
/M woree:  Okay.
;K VOICE: That’s where, you know.
A M PO3CE: nfoft, there we go, yeah, okay.
~“30ICe- I mean, it’s steady to the extent that

’%U.lv » VR
you’d say steady is within finsudible) ) three or four

degrees.
It’s steady within that range, okay, right?

F K wozes: (Inaudible) -- back to 115 on a third

(inaudible) . :
cp/u) Pa v

HLM xmozce: Yeah, okay, (imeudIBI®) -4e five degrees.

FK ROICE: It started going up, and then went down

again.
AL M BOTCE:  Okay.
ZMOICET. Who do you think has the rest of the

starts?
Jimey FPAVL
FPK Sorcs: (Inaudiblo)/\.

ALNM wozeR:  Who?
T W NK TIMrY
P K 02CE: 1 agree with him thet 1t's,\?au1 Cash

=tphonetic)y, you know, also.
ALM: T /IMMY

~Ap s ,\m You think,\hul Cash has all the starts?

F K %ozce:  Yeah.

AL .7 weser:  Okay.
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THE FAILVRES
N“"'}/sa:g; (Inaudible) =-- only tvo/\m
THE : LUBE c/i

on a diesel, one B which is the high temperature, Iow—beil -

A

#./7 WOIC®: Yeah.

JACKE T

MJOMY YOICE: (Continuing) -~ and the low prauur.,’:hud:
LVGE o, TTIREBE LVTE ©rk,

-4u-the water and t;ho,1

That’s because it’s connected .J one

/vE.’a
ONE

Anytime that you qct4m you get both of then
S 7TeAES

on. 0 - 2
Air wozes: M“J ?"VA£~’;;~,£J o a

X ﬂn.“ (96[5
A -~ -} § Yoah,A(inaudibh). You see, you're

behind on this.

A LM VOZCE: I know why, because of all the starts.

FK WOICE: That’s right.

ALl BOICB: OKBY. ScMEBCDY HAS G-or Jo HAVE 7HEM.

VOICEy——Owe of thess Juys hsd thaw. -

PR OO (Inaudible)y cowrwHci AHeeoH.
ALM B03Ce: We put something together for the --

didn‘t we put something together for the IIT {phonetie’ on

that?
F K %0¥Ce: Yeah, this is what I made for IIT.
(INACLI8LE)
ALM 203CE: 1 heard-of Athu. unless they made it

(inaudible).

koA®Y gncr:  yeah, that’s it. That’s what Jimmy Paul
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has. .
(,A?Lfﬂ‘ﬁuf,
A. 7~ He has that, he and fimmerman {phoneticy..
H 7.
*YOICTEY All right, maybe I‘l]l get wlthAth.s
let me make copies of these just for now, so I can

make some notes.
(UACK g LN D CorVER5ATien

SOUNY EF XERLX [THASHAE)
(Pause.)

ROICEr Ty neEveEr NAd THET..

“HOICEr ——It-was held up Initisl Iy Inaudibley-

HNOZCE - Did-you get-that-—number?—
ALM vozes: I appreciate that.

(Pause.) (JBAEAK N FTAPING)

VOICE: Okay, the administrative chain up there -

VOICE: (Inaudible).

VOICE: Curtis (phonetic) -~ yeah, I mean, but he
was, you know, I mean, he was like that.

He’s a fairly high guy. Was it O’Reilly
(phonetic) who was administrative then?

VOICE: Yeah.

VOICE: O’Reilly in administration?

VOICE: (Inaudible).

VOICE: You know, I mean -~

VOICE: (Inaudible).

VOICE: He was to the administrative branch, you



